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Section : Domain Knowledge

Q.1 The flux density is defined as:
Ans X 1 Flux x Area

«. 2. Area / Flux
x 3. Flux + Area
x 4. Flux / Area

Question ID : 275228647
Status : Answered
Chosen Option: 4
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Ans X" 1. %3 .qe. (KCL) T SFFER0T heell &
75 2. A& A ge. (KCL) &1 Jeoie ol &
X 3. A& A GE. (KVL) o SFER0T ohal
W 4 3 &R ga (KVL) &1 Seete a=ar @

2 Frx & oS agfy ¥ wost A, e F @ s suw wew 2

Question ID : 275228631
Status : Marked For Review
Chosen Option: 3
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Ans  of 1 15V
X 2.45v
X 3.30v
X 460V

Question ID : 275228667
Status : Answered
Chosen Option : 1

Q.4 Which of the following is the correct relation?
Ans " 1.Y11=h11/h12

25 2.¥11=h11

W 3.Y11=1/h11

25 4.¥11=h12

Question ID : 275228706
Status : Not Answered
Chosen Option : --

Q.5 In a protective circuit, the percentage differential protection is used to prevent against:
Ans x 1. inter-turn faults

( 2. magnetising current
X 3. external faults
x 4. heavy loads

Question ID : 275228698
Status : Not Answered
Chosen Option : --
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Ans X' 1.8V
X 2.24v
W34y
X 4a12v

Question ID : 275228632
Status : Answered
Chosen Option: 3

Q.7 ww aw @ wiaer AT 35 km ¥ 3T G # F59 5 kghkm ¥l 3 G F uaTy &7 fafise wiawer
07 %107 0-m ¥, & 38 AN & FJIET FT HT HTH {hewe gHT?

Ans X 1.0.02x 1078 m?
X2 2%x107% m?
X3 02x%x10°m?
v 4 20%107% m?

Question ID : 275228622
Status : Answered
Chosen Option : 4

Q.8 ufeaR hae H 31TTo% (sheath) o1 J=1 i /T gieT 872
Ans  off 1 of & arn

X 2. & JerE @ s

X 3. wffg dieest W R 63 &1 21k Te ae

25 4. =T O UE e

Question ID : 275228693
Status : Answered
Chosen Option : 1
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X 2.25v
X 3.50V
X 475V

Question ID : 275228665
Status : Answered
Chosen Option: 1

Q.10 gigwiR &, sfieR () fFa forg we= farar srar @2
X 1. iR A &4 ga veH aRal g, gty

W 2 &1 @ T & srasitft @R 8, Tl

X 3. g TR sifaet & fheex & & & & T &, gafeg

Ans

25 4. T gra/gI o o B, e

Question ID : 275228727
Status : Answered
Chosen Option : 2

Q.11 The part of DC motor that is designed to have maximum thermal stress is

Ans

x 1. Armature winding
X 2. Slip rings
( 3. Commutator

X 4. Field Winding

Question ID : 275228674
Status : Answered
Chosen Option: 1

Q.12 Q.. (AC) Fhaet Y URT ag-T &mwdr |

Ans

25 1. =fSf ahie bt b SRR Tl Ul @
25 2. =i e & g1 Td Tl @
25 3. =fSf e I g % AR &M
W 4 =i ae & grrEm fr o 2

Question ID : 275228694
Status : Answered
Chosen Option : 2




Q.13 2} ufaRterent s ufater A1 shwan: A1 3R A2 81 3 TR 379 d I3 gU 81 99w 92 gq uferty

&1 fRrerer ufeRter s/ gm?
Ans X" 1 (AT +A2)+ATx A2
W 2. ATxA2+ (A1+A2)
X 3.ATxA2
4 A+A2

Question ID : 275228623
Status : Answered
Chosen Option : 2

Q.14 S| (g&.3d.) ugfa &, fera smaer Y geraa sars a1 32
Ans X' 1 g

75 2. ¥Ry
W 3. %l
75 4 ¥R

Question ID : 275228609
Status : Answered
Chosen Option: 3

Q.15 ag TEwIFR H-31 &, Sradhl fgdtae arEfan gazn d =i et 82
Ans X' 1. dicear giawmiER

X 2. REfegeE gk

75 3. s g

W 4 awr gEwhR

Question ID : 275228726
Status : Answered
Chosen Option: 4

Q.16 What is the major disadvantage of linear power supply?
Ans X" 1. Leakage current is high

x 2. High frequency transformer is used
J 3. Its overall efficiency lies in the range of 30-60%

x 4. Heat loss is more

Question ID : 275228677
Status : Not Answered
Chosen Option : --




Q.17 &TE UR Rep AR AU YR UhR kT ______gaT &l
Ans X' 1. weikde &g

/X 2 =dedu

W 3. et 3w

X 4. LED (qeiéd)) &iu

Question ID : 275228738
Status : Answered
Chosen Option: 3

Q.18 e 213y &R H, Sfichot hie ol _____ & ZRT & fhar sam 81

Ans X" 1 HV 3R LV arEfen & de gar &t g1 e
o 2. HV oiR (L arsfén ot sidefa (Esfm) a
25 3. HV 3R LV arEfe ot srem et
2< 4 HV 3R LV arEf & o geh e v

Question ID : 275228720
Status : Answered
Chosen Option : 2

Q.19 gRam afhe & depora qram ______ 3 fAg smaaes g1
Ans X' 1. 3R ate

W 2w afie

25 3 Fndie

X 4. SR dRs

Question ID : 275228699
Status : Answered
Chosen Option : 2

Q.20 The flow of current in any wire is the result of the:

Ans X" 1.motion of neutrons
x 2. no effect of motion of charges
x 3. motion of positive charge

( 4. motion of negative charge

Question ID : 275228611
Status : Answered
Chosen Option : 4




Q.21 &f ol A TR a1 T & g Iuahn fohg S aret SuehvoT &t /T gt STraT 87
Ans  off 1 Fam (THEER)

X 2. gefter

25 3. e gders (e 2ER)

X 4. agefy e (iR fErg)

Question ID : 275228669
Status : Answered
Chosen Option: 1

Q.22 3R | UReh URT 3R V URT & veed it g, at RL afthe & forg = d @ owie-wm e 9t 82
Ans X" 1.V (0+)=V(0-)

X 2.1(04)>1(0-)

W 3109=10-)

X 4V (©O+)<V(0-)

Question ID : 275228708
Status : Not Answered
Chosen Option : --

Q.23 af geaatieie Atex Fit fies aEfEn d aé affe gtemg, atag |
Ans X" 1. el e s R 2T

X 2. uRadt =ret (variable speed) & U & & &M

25 3. et S

o 4. 0xoft siteR & w0 § @l

Question ID : 275228744
Status : Answered
Chosen Option : 4

Q.24 R ufasHl & forg fFe v Y araf i RiwRer 6 st 82
Ans “ 1. Iefie (Cleat)

X 2. oYt &t srf-gge (PVC conduit)

x 3. Aed (Metal)

X 4.@aTE (CTS)

Question ID : 275228695
Status : Answered
Chosen Option: 1




Q.25 & o2 wgfa & ax #, 1 mA # U 3o9d A F AT s T F o FEew W ow d 1 ek

I, & feifa =

—>|'E

™

s i l; = +1 mA, I, = +1 mA
X21;=-1 mA, I, =—1 mA
Vily=-1mA I, = +1 mA
X 1;= +1 mA, I, =-1 mA

Question ID : 275228613
Status : Answered
Chosen Option : 3

Q.26 Fixed losses are those that occur in the motor irrespective of the:
Ans « 1. quantum of the load

X 2. maintenance of the load
x 3. resistance of the load

X 4. efficiency of the load

Question ID : 275228672
Status : Answered
Chosen Option : 1

Q.27 Ueh 3reef sk Y ITaaw geran & forg, B 7 @ ia-<f fRAfa 9 @2
Ans ‘f 1. am g1 = dig g1l

X 2. am e < g ey

75 3 amefi+egefi=0

< 4. am ey > dg aify

Question ID : 275228728
Status : Answered
Chosen Option : 1

Q.28 The operating point of a biased BJT circuit is known as:
Ans ( 1. Q-Point

75 2. K-Point
X 3.R-Point
/5 4. J-Point

Question ID : 275228750
Status : Answered
Chosen Option: 1




Q.29 50 Hz & sgf aTeft STashia U & sead! Tearad! 4Rt & 20 A &1 rms J19 §1 §9% dAThlicieh

| &1 T} ehioieh &hIH-T1 87
Ans X" 1.|=40Sin 100 it ampere
x 2.1=20 Sin 50 it ampere
( 3.1=28.2 Sin 100 it ampere

x 4.1=20 Sin 100 rt ampere

Question ID : 275228712
Status : Answered
Chosen Option: 3

Q.30 Which of the following is NOT a type of resistor?
Ans x 1. Carbon composition type

( 2. Wood type
x 3. Wire wound type

x 4. Metal film type

Question ID : 275228663
Status : Answered
Chosen Option : 2

Q.31 T wite Y AN |, gep gk R wrufAe arEfEr o gage fraar giar &2
Ans x 1. 3h1e BT 3R a9 g1 & AT & sRIeR

25 2. 93 B & SRR
(3.3%35@&?&?@?
X 4. 5hre BT 3R AT §T & SR & SRTR

Question ID : 275228722
Status : Answered
Chosen Option : 3

Q.32 ¥Fad sgAY A ugad g archt amfi d _____ gfy/gen anfaw
Ans < 1 e Ridge g

o 2. 5= gifse amed

X 3. e e

X 4. geEnE

Question ID : 275228619
Status : Answered
Chosen Option : 2




Q.33 The induction cup relay is linked to:
Ans X" 1 current

x 2. voltage

( 3. impedance

x 4. power

Question ID : 275228700
Status : Marked For Review
Chosen Option: 1

Q.34 TeATEdeR TR §, TR aTEfin Y v (AeRd) e @ &
Ans X 1. sygora () i o e gl

W 2 =R & Ruda R =

X 3. Fas A iR s 7 @

25 4. arEfEn & gam R W

Question ID : 275228678
Status : Not Answered
Chosen Option : --

Q.35 U Aeddh St srguged e &Y 3ufRifa &t sreat fom, a3 &t ges srert Sl @R (DC level) R
ARG har e, adrgl

Ans X' 1. gicear Rt (Gl fRarssR)
X 2. FRERR
X 3. fRR
W 4 =R

Question ID : 275228685
Status : Marked For Review
Chosen Option: 1

Q.36 HiesfaT oetaw (iehT TTeteh) & Sftenfie ok SSiifaf srgyatr &, A= & @ Fig-ar arads
Ageayol T 82
Ans X' 1. deRor
X 2. T
W 3. v

X 4. dmEE

Question ID : 275228616
Status : Marked For Review
Chosen Option: 3




Q.37 Uah uRuy & & 71 gieedr o1 isten 9 R mar &:
V (t) = 170 Sin (6280t + 1t/3) V; 3TTgf~ T AT T ghm?
Ans X" 1.50 Hz

X 2.6280 Hz

o 3.1000 Hz
X 4.100 Hz

Question ID : 275228714
Status : Answered
Chosen Option : 3

Q.38 = # @ yeaarafd= (alternator) & fAQ 31mer ATeTeh (prime mover) &19-3T 82
Ans X' 1 &8

X 2 SR dex

W 3 Emeafs

X 4. @R PV

Question ID : 275228734
Status : Answered
Chosen Option : 3

Q.39 Rex 3R Aex arsfEn # wifda gaha &= & = srat=aferar gr1 ferega St 1 gifyes sorf &
uRafida s aret Sueeor (FRare) &1 9 =1 &2

Ans X1 zifSreR
75 2. FERR
X 3. Tfthe (aRuy)

W 4=

Question ID : 275228673
Status : Answered
Chosen Option: 4

Q.40 -4l Aeadh #, Z Rrftel & o=g 9 = gl &2
Ans X" 1. <ifé gfhe gefidy tRifiex

W 2. ot afe sy tRefie

X 3. 3 gfthe gefity tRifie

25 4. <l afe ghew Rfie

Question ID : 275228705
Status : Answered
Chosen Option: 3




U =3 R T I F Qq AR A FI (TRET ASHEE F B)

o 250 Vo

Ans X' 1.2.5uTgshigEE
W 2. 2500 eI
/< 3. 25 ArEshige
75 4. 250 ArEshIge

Question ID : 275228658
Status : Answered
Chosen Option : 2

Q.42 @a 15 kVA 60 Hz giawieR & 50 cm? shig-8asr & gaehia &R 3R 66.7 cm &t 3itad wars
&1 ifderaw ifNarg v 1.5 T &1 wnufAes i (e<f) &Y = 1201 1 wrafAes gteedr &1 7=
/1 gm?

Ans 124V
X 2.240v
W 32400V
X 4.24v

Question ID : 275228719
Status : Answered
Chosen Option : 3

Q.43 9HMIAR thA J S[2 Wid q+h S1R. . Ht. Aeadh (source-free RLC network) Y AR thigdeht (Amr
3gfY) fha=it gl &2

Ans 1

Question ID : 275228709
Status : Marked For Review
Chosen Option: 3




Q.44 The 'flat compound characteristic' of a DC compound generator is obtained by:

Ans X 1. connecting a fixed resistance across series field
x 2. connecting a variable resistance in parallel with shunt load
( 3. connecting a variable resistance across series field

x 4. connecting a fixed resistance in parallel with shunt load

Question ID : 275228671
Status : Answered
Chosen Option: 3

Q45 =y & a8 gl &, Ru e aRuy F 9X e # @ Fawr w5 P

Ans X" 1 fag A 3R B & e o farsaieR g g 0 wR SRR 21
X 2. Reg A 3R B & dfra ot Rysraiar gaem ad gl
o 3. R A ofR B & e 1 fsraiar 93 g oy iR amenRa i 21
X 4. Reg A 3R B & dfra o1 Rrsaiar gaem (= gh I

Question ID : 275228628
Status : Answered
Chosen Option : 1

Q.46 ST o1 avTew fFaw P d @ g war gar &2
Ans X" 1. fafd & 7@ gu 4RI a6 Frefeh )R

75 2. %9 % 7@ §Y URI 9 weich W

W 3. G5 8 F @ g uRT 7 e W

X 4. T & 7@ g URI a8 wTeieh W)

Question ID : 275228649
Status : Answered
Chosen Option : 3




Q47 The current varying with time in the given figure is which type of current?

\“
\r

Ans x 1. Damped sinusoidal current

X 2. Direct current
f 3. Exponential current

x 4. Sinusoidal current

Question ID : 275228612
Status : Answered
Chosen Option : 3

Q.48 et i fasrelt &t sgfed FA M woif ____ @ v Ay st 31
Ans o 1. oz gawieR oo MR g

X 2. urwor et

X 3. g

p R T

Question ID : 275228696
Status : Answered
Chosen Option : 1

Q.49 D foerg vty &, afy dufa fRAFS (present state) 1 8, At gk 81 wR sn<Seye &I onTelt fRAf
gnfi?

Ans  of 10
K 2.1
X 3.10
F

Question ID : 275228752
Status : Not Answered
Chosen Option : --




Q.50 Q.. (AC) R h U Uk &kl ______ & =9 | gRafe fovar sman 81
Ans X" 1. affd | x rms A

X 2. 3w + rms H7H

25 3. 3ftga am / rms A7

“4. rms A9 / 319 A4

Question ID : 275228711
Status : Answered
Chosen Option: 4

Q.51 1 & & -3 ufer sAaRaw Susvor (fEarsw) AT Ramsif & DC e (YRT) & ST Tehar &2
Ans X' 1 gg.Hl.3R. (SCR)

X 2. A (GTO)

/5 3.zmiE (Diode)

o 4 wtate (MOSFET)

Question ID : 275228684
Status : Answered
Chosen Option : 2

Q.52 forT sis a1 Ueh orresf sk &, mufas iRk ik Fdfaw aRksr s fia_____ weiar ghar
gl

Ans  of 1 180°
X 2.90°
X 3.360°
75 41200

Question ID : 275228721
Status : Answered
Chosen Option: 1




Q53 What does the following diagram represent?

Ans X" 1. A network that is a circuit
x 2. A network that has close path

( 3. A network that is not a circuit

& 4. Acircuit

Question ID : 275228625
Status : Answered
Chosen Option: 3

Q.54 o S A, e 3 o o &
Ans X" 1 7€) Aot o & ok A @ qEicR hE F
252 Aofga d
o 3 TR E
X 4. St o iR 7 35 <t &

Question ID : 275228633
Status : Answered
Chosen Option: 3

Q.55 IceHieR it g A fRrae oht 3 gR1 wgl fnan strar g1
Ans  off 1. AR MSCge T

& 2. TR A s

X 3.AWR

5 4. vIEH geR SI9eye geR

Question ID : 275228731
Status : Answered
Chosen Option: 1




Q.56 urufAc 9« & IR | = d @ Far 9t 87
Ans X" 1. g T Rigid TR o el @
W 2. 75 R @ aref A & wmaes 78 g 8
25 3. g IRu Rigid W & el &
X 4. 78 R G =1l o & e Bl &

Question ID : 275228637
Status : Answered
Chosen Option : 2

Q.57 faega ulRuyt & ger-ufth (a1-am5) S o1 Iuai, faega Seif & ar it w1/t
forg foman sman @1

Ans X" 1 medich e
V 2 e
X 3. Rugw &
75 4 difE

&

Question ID : 275228607
Status : Answered
Chosen Option : 2

Q.58 e THATERT FET o & BAT 1.0 cnx 1.0 cm X 50 am ¥ 3R FET #r SieReaT & AN
3.5x107°0-m &, & T97 F 7 i & 9= F 9fowr = 717 F=24r geme

Ans  of 101750

X 21750
X 3.1750
X 417500

Question ID : 275228659
Status : Marked For Review
Chosen Option: 1

059, she 1, o ST 2 R ST 5 A s g

air;mf,aﬁt@aﬁﬁqﬁaﬁanﬁqaﬂ?r%’r@%
e v 1y ety s i R s &
;ﬁ;’m!;ﬁ?@aﬁﬁﬂmﬂiﬁaﬂ%@ﬁ@?
;;ﬂmaﬁf;ﬁ?fg all / HAeedregg (TR o7 §

Question ID : 275228651
Status : Answered
Chosen Option : 1




Q.60 Extra Super cables are used for the voltage level that is beyond:
Ans "1 11kv

/< 2.33kv
X 3.66kV
W 4.132kv

Question ID : 275228617
Status : Marked For Review
Chosen Option: 4

Q.61 I F grfiR ik Y zarar H@ uRwTfa i ot 82
Ans X 1 qafie fewrst (Ride) + e =mst

W 2. g Rt (Ridfe) / et =

X 3. gahe Tt / geh-e Rt (Ride)

X 4. grfe? Rt (Ridfe) x goct-a? ot

Question ID : 275228640
Status : Answered
Chosen Option : 2

Q.62 A= & @ w9-u1 e ¢RRE ded (Hiar st 3ed) hY v afcha armft 78 &2
Ans X' 1 wivi s

X 2. a7 TeRIRen o

( 3. TR SN (wifeeh o f3aa)

75 4. @ Wiawrgs

Question ID : 275228639
Status : Answered
Chosen Option : 3

Q.63 ‘garhia a1 a1 e fha= o g2
Ans x 1. Jged

' 2. g (geita)

X 3w

p R

Question ID : 275228645
Status : Answered
Chosen Option : 2




Q.64 faege srawes &t ufshar & forg, Far siffard gar &2
Ans X" 1. o ke T (vgeh) diedst I T AR

X 2. 35 fgd-srasre & g, @ fhg g (srgeh) dieest o 7T, figd siqeed & fiwe fgd-ares
o (emf) & SRTER T AT

X 3. 39 fgd-srasren & g, @ fhg g (srgeh) dieest o AT, figd siuee & fiwe fgd-ares
o (emf) T &7 g1 A1

o 4. 5 Rrege: siee & g, wir fo6g 7 (1) e o A, Riggd orvie & o fge:
qT8h §e (emf), & TTET 1T AMfRY

Question ID : 275228636
Status : Answered
Chosen Option : 2

Q.65 VAR foraeht 3erTs (AT57er) 21
Ans ( 1. uferdh «1fk (reactive power)

X 2. gfeha 1<k (active power)
x 3. dffsr 21tk (complex power)
X 4. 3t 1fek (apparent power)

Question ID : 275228710
Status : Answered
Chosen Option : 1

Q.66 100-Q UfARIT TR 115 V (rms) @ 60 Hz dtest fam Sirar &1 ateest & g gl shrer aeftenvor
HF-T18?

Ans  off 1.V (1)=163Sin377t
25 2.V (1) =163 Sin 1771
X 3.V()=163Sin377t
75 4.V (1)=1.63Sin3771

Question ID : 275228716
Status : Answered
Chosen Option: 1




Q67 Rv e ufuy #, 4, F BT A & ¥ Fia-ar RFeeT wd sao TEJT FT 87

+ i Liz

v R, ng

Ans i
x’l. [ =
27 (Ry+Ry)
R
R s
: (R;)
R
K3, =1iX =
. (R +R;)
R
vii,=ix =
= (R +R;)

Question ID : 275228634
Status : Answered
Chosen Option: 4

Q.68 fRiTTe-thet, ea-forsT ateest Hid DC/AC &aer #, foha=t fearar o1 Iuah foman simar 82
Ans  of 14

X 2.2

253

X 46

Question ID : 275228754
Status : Answered
Chosen Option: 4

Q.69 TTadl aleedr e = 200 sin 314t &Y 3MYfef, Yeh T& Iueh?oT & FiI STt @, it fradia fem & umr
% g I Aehd gT Gk fean # umer & v &Rt 20 O o1 SitfAes uferkty wers e=ar &1 RMS |
&Y o R

Ans  of 1 54
X 2.314A
X 3.20A
X 4.200 A

Question ID : 275228713
Status : Marked For Review
Chosen Option : 1




Q.70 Teh ATeieh M & ez, T 7 @ orn AR gar &2
Ans  of 1 far

X 2. 3 (as)
25 3. fgd g
X 4. Regd v

Question ID : 275228655
Status : Answered
Chosen Option: 1

Q.71 & SUTIhid T @ -3 UedTad! YISl & rms 719 5 3R 7.5 A & 34l 399 50 Hz & 9um=

rgfar 81 37 Sifdreras w1 T &2
Ans  off 1.7.07A,10.605A
75 2.10A,15A
75 3.5A7.5A

75 4.15.06 A, 20.05 A

Question ID : 275228715
Status : Answered
Chosen Option: 1

Q.72 dahra &= araed 6 gerd a2
Ans X1 =ea

25 2. 3R/ e

W 3. =/ A

75 4 e x AR

Question ID : 275228646
Status : Answered
Chosen Option: 3

Q.73 3mifayes uRrET AT9A & forg, A F @ R, deef arenw & = d gA1 ST 82
Ans X1 cedl
X 2.1g

W 3. fPafa

X 4. ur

Question ID : 275228643
Status : Answered
Chosen Option: 3




Q.74 @R araR o1 fReew #, 36 Y 35, 1. (AWG) dR a1 =am¥ e glar &2
Ans X' 1 5%%

W 200055

/X 3.005%9

X 4.05%9

Question ID : 275228620
Status : Not Answered
Chosen Option : --

Q.75 A= & Q H19-T1 HU= T4 82
Ans X" 1. ag ft & &, (IGBT) & esf Hiathe (MOSFET) & o giell &1

o 2. sESh & (1GBT) a1 wesf Aiwrdhe (MOSFET) 3R &, (BJT) & weamardt (Rrsd) gar
gl

X 3. IS, (1GBT) o wesh €. 9.8, (BJT) & TH gl &1
75 4. arg SR A, (IGBT) & wesl grite & TaH giar &1

Question ID : 275228683
Status : Answered
Chosen Option : 2

Q.76 3= A TR YIRFAIIE 3Tee<ex (Aircraft alternators) a1 3uaiw ford forg farar simar &2
Ans X 1. 3 & g e & farg

W 2. s E e & g

X 3. 58 o T R & A § g 9 & forg

25 4. a1ed Rghy & et o & farg

Question ID : 275228732
Status : Marked For Review
Chosen Option : 2

Q.77 faega ulRuy #, ag fawg, s1gi wR 31 a1 36 oifdes awl (aferie) @1 @i warr gl g, 39 fra
A @ ST SITEr 87

Ans X 1 A3 (sTef)
25 2 u
W 3. s (omif)
X 4. uRuy

Question ID : 275228626
Status : Answered
Chosen Option : 3




Question ID : 275228725
Status : Answered
Chosen Option: 3

Q.79 3feexAeR Y =R arEfEe &1 FAeE gar gl
Ans X 1 glsn e dARE

X 2. BRI "R RS
X3.aﬁg€ﬁ@%a¥a§aﬂaﬁa%3
V 4 s erR RS

Question ID : 275228730
Status : Answered
Chosen Option : 4

0 A R T RrEw Y eRT war B2

Ans " 1 gt e e &
X 2. diest fafd diees wid
2 3. urr FEfa diedet @
W 4. arr i emr s

Question ID : 275228624
Status : Answered
Chosen Option: 4




Q.81 v gy gEwHR & fow, s e wioamr S (Zin) 3t @ sfaemr S5s (Zload) & & Haw

#r = B)
Ans 1 Zin = (N,/N,)? X Zload

X 2. Zin = (N, /N,)? + Zload
X 3. Zload = (N, /N,)? X Zin
X 2 Zin = (N,/N,)? — Zload

Zaw faam e ¥ (SE Ny, s i # & f 5w § A% Ny TEEl aafEe 7 &

Question ID : 275228717
Status : Answered
Chosen Option: 1

Q82 fro aw aimy ¥ fw e o) % TEE & Fa-ar ad@eer @@ e

Ry

12A Li
10V Rgg R3§ (M)sa

Ans X1 5+i=0
X2iR;,—2+i+5=0
X3 5+i+2=0
V4R —2—i+5=0

Question ID : 275228627
Status : Marked For Review
Chosen Option: 4

0,33 B emees o T e T B A
Ans X 1. et 3 R s @1 P

25 2. =g & farega svwed a1 Fram

o 3. 812 3 R orawes @ P

X 4. HwR a1 g sraeres & fram

Question ID : 275228635
Status : Answered
Chosen Option: 3




Q.84 farega &=t it cfisran i gepTs (FIek) T @it @2
Ans X 1. e x et

X 2.7l / e

f 3.7/ et

X 4.7

Question ID : 275228653
Status : Answered
Chosen Option : 3

Q.85 af} e seAeR Al s wrelt @, at smgiy @1
Ans (1_3—&7,—&

X 2. ufRh ores wR R gt @

25 3. TaE

X 4 wed

Question ID : 275228733
Status : Answered
Chosen Option : 1

Q.86 =1 & & wiwT-41, 9 & YT g & TTSI &t AT T Hehdl giaT 872
Ans X1 qroEE

X 2. g

W 3.7

X 4. gfEror (Volume)

Question ID : 275228642
Status : Answered
Chosen Option: 3

Q.87 =1 & & whiwr-a Wi on (s glie) S« <t faega fareiuar =i &2
Ans X' 1 diRw
(2. <1f<h TR (TTeR thare)

/< 3. g
75 4. ewa

Question ID : 275228641
Status : Answered
Chosen Option : 2




Q.88 In electric circuits, the personal protective ground’s function is to provide:

Ans X 1. high impedance path for short circuit current
( 2. low impedance path for short circuit current
X 3. adequate impedance path for short circuit current

x 4. variable impedance path for short circuit current

Question ID : 275228605
Status : Answered
Chosen Option : 2

Q.89 P 7 @ s-w1 e qRre Aed (e ot ded) ot e T &2
Ans  of 1 Sl @ (nf )

X 2. Fmex (qufd)

X 3 we

X 4. Rrge-omme (sdegiese)

Question ID : 275228638
Status : Answered
Chosen Option: 1

Q.90 v wrreh 8 et g Y Rivet e rRsrfier Rt ran 27
Ans X" 1. g qoT, TR Sae gedha g g (i) 8 ST @
X 2. a5 aToEE, FRITR g9 guchia qraed ord gl o &
(3.%W,Wmmwwiﬁaw%

75 4. 7 anumr, R gue gaehia qred Geh G 36 &

Question ID : 275228648
Status : Answered
Chosen Option: 3

Q.91 e &t aRre e &7

Ans X 1. 3masT x AT
X 2. Rrvaiar x iR
25 3. Rmaiar / smaw
o 4 omax/ R

Question ID : 275228656
Status : Answered
Chosen Option : 4




Q.92 In protective circuit earthing, a transformer is used to:

Ans X 1. improve neutral wire current carrying capacity

x 2. avoid overheating
( 3. provide artificial earthing

x 4. avoid harmonics

Question ID : 275228697
Status : Answered
Chosen Option: 3

Q.93 Which of the following does NOT belong to the category of semi-controlled devices?

Ans x 1. Bidirectional phase controlled thyristor
o 2. MOSFET
x 3. Static induction thyristor

x 4. Fast switching asymmetrical thyristor

Question ID : 275228682
Status : Answered
Chosen Option: 1

Q.94 Which of the following is the correct expression?
Ans X" 1.volt = coulomb / joule

X 2. volt = coulomb x coulomb
( 3. volt = joule / coulomb

X 4. volt = coulomb x joule

Question ID : 275228654
Status : Answered
Chosen Option: 3

Q.95 fafa it smiféres urem=aan & wigf & IaeT A foha= glar 87
Ans X1 4n

W 21

725 3. ara

X 40

Question ID : 275228644
Status : Answered
Chosen Option : 2




Q.96 ZEwIHR & situs afthe 3w #, FF-8 tRnfier Puifta frg wma &2
Ans x 1. ard g

X 2. am g 3R oie g

X 3.awEE

V' 4 T vfer, we g Rty

Question ID : 275228718
Status : Answered
Chosen Option: 4

Q.97 U geifages Aiex 5 kW Y 21f<h &t &1 Jtex il gerar 85% &1 #Atex & smseye il o Kg-m/s #
]|

Ans X" 1433231

/< 2.4.33231

o 3433231
/X 4.4598

Question ID : 275228707
Status : Marked For Review
Chosen Option : 2

Q.98 3-h gseRrRFA dAler d, aR feu A= 1§, at e ____|
Ans  of 1 sg RRRIAR

X 2. o e 1 1T @ e e

75 3 el Qe A A 8

75 4. geefores iy @ e @1 8

Question ID : 275228746
Status : Answered
Chosen Option: 1

Q.99 1 | & srl=-|1 A1g= @ AfE & & fog afhe @ goft s d Fer T 82
Ans “1.Qxﬁa

X 2. tfeR B e

X 3. thiedd ez

75 4 e

Question ID : 275228737
Status : Answered
Chosen Option: 1




Q.100 ______ &Y HUTGAT &l &l e & AT, haret aTeieh & SR Teh Srefareten il ure Te1s Siredt 81

Ans  off 1. Qe A # e
X 2. =T W R dieedt wfiee
25 3. =TeTa | therrd (protrusion)

X 4. =TeTes B U1 o e

Question ID : 275228618
Status : Answered
Chosen Option : 1

Q.101 af 3-t%s s Aiex Fi few 1.0 &, a9t At A DA R &2
Ans X' 1. gt ahte (quf i) @ el @1 &

< 2. aneht wdte (ame 7R @ T <1 &

25 3. geh-ters whe (fd) @ e w1 8

W 4 FremEend g

Question ID : 275228688
Status : Answered
Chosen Option : 4

Q.102 In permanent magnet moving coil galvanometer, the damping force is provided by:

Ans x 1. magnetic induction
( 2. aluminium frame
X 3. movement of needle

x 4. bronze wire

Question ID : 275228736
Status : Answered
Chosen Option: 1

Q.103 'du gieht (lamp efficacy)' rsg &Y ______ & w=u & uRwfa farar srar g1
Ans X' 1. gt Jeford SO eTeRd — et U UTeR STGE

25 2. e i R SYE / et Sford safd oRe

' 3. T Scafia i v / et df R Fge

75 4. et Ieafld S TereRd + el U UfeR gTE

Question ID : 275228742
Status : Answered
Chosen Option: 3




Q.104 T. . (AC) Hia & 2 fagg ¥ @ dhufafea affe d, duRa # sitwa Reg@ sruema )
Ans (1.2@5%{

X 2. afthe 6 fRIR w FreRk g

x 3. "erfa & | (capacitor value) TR fAaR g

X 4. sFa g

Question ID : 275228703
Status : Answered
Chosen Option : 1

Q.105 In a three-phase voltage source inverter having conduction in 180° mode, how many
switch(es) is/are ON at one time?

Ans X' 1.2
W23
X 3.6
X4

Question ID : 275228753
Status : Answered
Chosen Option : 2

Q.106 v a1 TeT T HFA g Teles 107 SoEEIA Wi m® §1 S Sees B AR £ S g ar
SormrEiet ZET 1.5 X 107 mfs 1 T e 399Tg 39T 9o e §1 Iy Terd & ey Fe &
gEwe 1om? §, o umr & digar A ) degd e 1.6 x 1071 Fare g

Ans X" 1.240A

75 2.24A
W 3.024n
p 2V

Question ID : 275228614
Status : Not Answered
Chosen Option : --

Q.107 In BJT, the parameter B gives the relationship between:

Ans x 1. base and emitter current
x 2. base and ground current
i 3. base and collector current

x 4. collector and emitter current

Question ID : 275228749
Status : Answered
Chosen Option : 3




Q.108 DC #Hie &, e=ulet 1 Iuai forar Sirar &:
Ans X" 1. ameR yRT &1 €Lt (DC) & uRafdd e & farg

7< 2. iR & =1e Bt g & forg
W 3. ReaRad w @i &t a0 a3 & forg
75 4. RS Red-aTeeh Tt (emf) A e e & forg

Question ID : 275228675
Status : Answered
Chosen Option: 3

Q.109 Teh geaahlieieh 3Teeiiex |, saTsex fhad a1 glar &2
Ans x 1. TS qer g 2

W 2 d=@

75 3. g el &

p R E

Question ID : 275228729
Status : Answered
Chosen Option : 2

Q110 Find the value of C,, for the following diagram (the values of C is in microfarad):
Cegq—= Ts _‘,4 e
s B D

Ans X 1. 3 microfarad

75 2. 14 microfarad
X 3

v &

3 u

— microfarad
14

14

o microfarad

Question ID : 275228657
Status : Marked For Review
Chosen Option : 1

Q.111 ufaR Arethe (MOSFET) &l fohe W il uier seiagi-e™ fEarsw & v d anffepa forar mar 82
Ans X" 1 afei fgsor

X 2. ufeR R

o 3. deear Frifia

X 4. ara Py

Question ID : 275228681
Status : Answered
Chosen Option: 3




W12 e T v s #, Bg € 3R D F = Sees w1 AW R €2

Ans

A

Question ID : 275228664
Status : Answered
Chosen Option : 4

Q.113 The quantity permeance is reciprocal to:

Ans

x 1. potential difference
X 2. ambience
x 3. thermiance

“ 4. reluctance

Question ID : 275228652
Status : Answered
Chosen Option : 4

Q.114 A= Al sl ATUF U & _____ & & & aficpa fovar ST g1

Ans

x 1. I=R¥ A1 (absolute instruments)
X 2. WA 3R wufde g3 (absolute and primary instruments)
« 3. I=H 3R fg<es F3f (absolute and secondary instruments)

X 4. faga 93t (power instruments)

Question ID : 275228735
Status : Answered
Chosen Option: 3




Q1S 3 %51 s=ae Alex & T, Ve IHF FTE & STeY e 2
M BT x QR H AR EAYE

2 Ferg
e FT IR SAYE

: VeI & IR $AYE
T (3gfe)
X 4 YT H AR ST

X s [T

Question ID : 275228748
Status : Answered
Chosen Option: 1

Q.116 T 4 Uit 50 Hz f&7eT thet Sga-M AleR 4% 6 ferg uR 9« @1 81 AR it nfa i morm
Ans  of 11440 rpm

75 2.14.4pm

X3‘144rpm

75 4.1.44pm

Question ID : 275228690
Status : Answered
Chosen Option: 1

Q.117 =R ufaRler 0.5 Q 3R 200 V faRieft fegq-arges o« (emf) aret, 220 V DC Hier & gRr smela
SI1IRT <RT | <RIT gIT?

Ans X" 1400 A
X 2.44A
W 3404
X 4440 A

Question ID : 275228670
Status : Answered
Chosen Option : 3

Q.118 zaM Alex & 21fwh Tureh & fog v 7 9 sl9-n wdetas &2
Ans X" 1. gt afk + smarh af

X 2. s iz / wfna ol

X 3. aft s x s af

o 4 T s / et

Question ID : 275228691
Status : Answered
Chosen Option : 4




Q.119 CFL @1 guf &9 /T gier 8?

Ans

x 1. HfRRM FARIe &7 (Calcium Fluorescent Lamp)
J 2. e TRy @ (Compact Fluorescent Lamp)
x 3. &edT veiRde @Y (Candela Fluorescent Lamp)
X 4. $AfEa7 weiikde @ (Canadian Fluorescent Lamp)

Question ID : 275228739
Status : Answered
Chosen Option : 2

Q120 £ oo oftgy &, 470 0 IS & @9 Bt uRT v gete?

Ans

470 Q2
AW
3V(E)
E2v
SV B4
D
S

X 1.0.1915mA

W 2.1915mA

75 3.191.5mA
X 4.1.915mA

Question ID : 275228630
Status : Answered
Chosen Option : 2

Q.121 The superposition principle is valid for:

Ans

x 1. non-linear circuit, dependent sources
x 2. non-linear circuit, independent sources
( 3. linear circuit

x 4. linear circuit, dependent sources

Question ID : 275228704
Status : Not Answered
Chosen Option : --

Q122 duRR WIE MR THr ______gar gl

Ans

25 1. geaehiferen Hex

X 2. 3Ol e HIeR

W 3. Riertnt g e
X 4. gfads (3¥guRT) Aex

Question ID : 275228689
Status : Answered
Chosen Option : 3




Q.123 In a power electronics circuit, two diodes are connected in series to:

Ans ( 1. increase the reverse blocking voltage withstand of diodes
x 2. increase the current carrying capacity of diodes
X 3. decrease the current carrying capacity of diodes

x 4. increase the forward voltage withstand rating of diodes

Question ID : 275228686
Status : Answered
Chosen Option: 4

Q.124 uieR /s fi f@aw= nfa RuffRa wA aren Roorea ads (RetEa RefieR) T gar d?
Ans X" 1. 3 qH: IR ehiet (RaE Reperdt 218H)

25 2. warh St srasityes feg (STaR fRsie)

X 3. @ emgfa (R hiedd)

W 4. oo o e et (Reef Rerardt eram)

Question ID : 275228680
Status : Answered
Chosen Option : 4

Q.125 52 Hiex # hifeRT T T HRUT giaT &2
Ans X 1. 3= WR

75 2. Fm e i eyl

75 3. @ e

o 4 et

Question ID : 275228692
Status : Answered
Chosen Option : 4

Q.126 The unit of electric current is:
Ans J 1. Ampere

x 2. Ampere meter
X 3. Ampere x voltage

X 4. Ampere hour

Question ID : 275228610
Status : Answered
Chosen Option: 1




Q.127 giEwiHR & guf wits ar g1 (iR &) iR witg g1 (SImaR=T #1¥) shAgT: 6400 W 37k 5000 W
&1 3Td FiiE R a1 g1 (TR A1) 3R #ig g (SmuRA #iry) shuen: fahasht ghfi?

Ans X" 1.3200 W, 2500 W
75 2.1600 W, 1250 W
o 3.1600 W, 5000 W
75 4.2500 W, 1800 W

Question ID : 275228724
Status : Answered
Chosen Option: 3

Q.128 39 f8re-thet ciawinR i fdius afénarResam ______ @, gy & 25 kVA, 2200/220
V, 50 Hz &1

Ans  of 1 113644
X 2.11.364 A

X 3.1136.4A

X 4.1.1364 A

Question ID : 275228723
Status : Answered
Chosen Option: 1

Q.129 Which of the following statements is correct about the short connection between 4 and B?

Ans X 1. It shorted only R,
' 2. It shorted all Ry, R, and Ry
< 3. It shorted R3 and R, both
< 4. It shorted only R

Question ID : 275228666
Status : Answered
Chosen Option : 4




Q.130 Which of the following lamps gives the highest efficacy?
Ans X" 1. Fluorescent lamp

x 2. Incandescent lamp

X 3.CFL
W 4 LED

Question ID : 275228743
Status : Answered
Chosen Option: 4

Q.131 3-thet forst YRR # foha=t srits o1 SuahT foRa Strar 82
Ans X' 1.3

W26

X 3.2

y Y

Question ID : 275228676
Status : Answered
Chosen Option : 2

Q.132 degd o & forg fasme= fopg g ... (PPE) # faegga Aeft g fore® ammg omrd &2
Ans x 1. dhsl

W 2=
75 3. 3@

X 4 wnfes

Question ID : 275228606
Status : Answered
Chosen Option : 2

Q.133 3-thet 8aRM AleR & fAg, afy s i &, &t Aex & ufear 3qe =t F2 == fowar srgm?
Ans X 1. Pmech
(1-s)

" Pmech

Pmech
3.
v (1-s)

< 4 Pmech X (1 —5)

X2

Question ID : 275228747
Status : Answered
Chosen Option : 3




Q.134 YR # 7g fAega (a19w uraR) &t sigfed & fog RuflRea smgfv a=m &2
Ans X 1.100 Hz

X 2.60 Hz
W 3.50Hz
X 4.30Hz

Question ID : 275228668
Status : Answered
Chosen Option: 3

Q.135 Which of the following is NOT a part of the illumination system?
Ans & 1. Lamps
x 2. Photometry
( 3. Temperature

x 4. Natural radiation

Question ID : 275228740
Status : Answered
Chosen Option: 4

B & E sl &, i W gew wHEIT?

L ] L -
B B,
220V E:Ef;\ :,:1\.
f"?/f/ _4
H9aT fromdae
& S - —

Question ID : 275228662
Status : Answered
Chosen Option: 4




Q.137 f § & Fi9-9 faega AEs i g Hiex o1 IuTNT Tk AT ST Heha &7
Ans X' 1. dieed

X 2. amEE
25 3. agan

W 4

Question ID : 275228608
Status : Answered
Chosen Option: 4

@138 ofeRremaT i S| FFE FT A
Ans X1 (3E)? Hex

v 2 A - AT

X3 3

X4 A - e/ B

Question ID : 275228621
Status : Answered
Chosen Option : 2

Q.139 Tk it o1 uferRter 600 Q &120°C TR AT9 7[0Tick 0.1% &1 50°C UR UfaRier o1 711 o/ ghm?
Ans X' 15820

W 26180
X 3.61.80
X 4.5820

Question ID : 275228660
Status : Answered
Chosen Option : 2

Q.140 3-Ger SsRM AR f fem sl _____ & wu d aRwfa fram man &1
Ans K 1. qer e/ R wls

X 2. & s - gegafores =

3. & wls / et @

X 4. R s x gegeores =re

Question ID : 275228687
Status : Answered
Chosen Option: 3




Q.141 A freewheeling diode is used in:

Ans X" 1. resistive switching circuit
( 2. inductance switching circuit
X 3. capacitance switching circuit

x 4. r-c switching circuit

Question ID : 275228679
Status : Not Answered
Chosen Option : --

Q.142 Qe sifeiTest rueithrR d ugh gifores & et forat gidt 8?2
Ans  of 12

K 2.1

75 3.3

y

Question ID : 275228751
Status : Marked For Review
Chosen Option: 1

Q.143 250 A &Y URT ag A aTet 3R gaT A 7 §T, Geh 7idl WY gerehR a1etes & 5 cm f g 0
TrIchg g fhaar gim?

Ans  of 17956 AT/m
/X 2.79.56 AT/m
/X 3.7.956 AT/m
/X 4.0.7956 AT/m

Question ID : 275228650
Status : Answered
Chosen Option: 1

Q.144 R2A"w z1zu R fFa v 6 gieht @2
Ans  off 1 wmh AR uw

/X 2 deRrm o
X 3. = et
X 4. 2w

Question ID : 275228701
Status : Answered
Chosen Option : 2




Q.145 A varistor is a/an:

Ans ( 1. non-linear element
x 2. linear element
X 3. active element

x 4. saturated element

Question ID : 275228661
Status : Answered
Chosen Option: 1

Q.146 TRYE AT &l TR IUGNT AT AR

Ans  off 1 35 vesi ¥ g aré et R
X 2. 3R veai ¥ g firs T hiadeh @ o
< 3. 5 vef & forg firs s e
X 4. 3R vesf & g o e Re

Question ID : 275228741
Status : Answered
Chosen Option: 1

Q.147 g 1w ofiwy 3w & v, Pl & O sia-ar dos, B & deear e (KVL) & T8

gfafafoes a=ar 2
7V
Ah
e -
5V '3 iy 1008 Uy

Ans “1_5_?_'_[{;:

Question ID : 275228629
Status : Answered
Chosen Option : 1




Q148 iy & o7§ ety 3 R@T 71T RO FEART HFANRT 7 T (AfF) 7T F

Question ID : 275228615
Status : Answered
Chosen Option : 1

Q.149 fags ufeRterss aRay &t aiftre srgfekar wrm ghfi?
Ans X 1 e sifdeted

X 2. uRuy & R w PR e g
o 3. ¥ &ifres R 78 3= gnft
X 4. 3= fdetaa

Question ID : 275228702
Status : Not Answered
Chosen Option : --

Q.150 The speed of a three-phase induction motor can be reversed by:

Ans x 1. adjusting the winding of the rotor
x 2. interchanging any one supply line lead
“ 3. interchanging any two supply line leads

x 4. interchanging all the three supply line leads

Question ID : 275228745
Status : Answered
Chosen Option: 3

Section : General Hindi and General Knowledge and Reasoning

Q.1 f=fafaa & & o a1 aw e 98 87
Ans X1 amm

X 2. aRa

X 3. 2wt

v o

Question ID : 275228757
Status : Answered
Chosen Option: 3




Q.2 HereR & wain & Wit & i ot Rgtvar 3= gkt 82
Ans “‘I.WT,WTH%]TWGW%

7% 2. 3 uRad g oa &

X 3.7g- T ot s @A g

X 4. HaUH Ud SehTae 3 g1 &

Question ID : 275228766
Status : Not Answered
Chosen Option : --

Q.3 ‘31w’ 1 faeiw 2reg gaTsyQ:
Ans  of 1 5w

X 2.uw
X 3.9
p R

Question ID : 275228762
Status : Answered
Chosen Option : 4

Question ID : 275228760
Status : Not Answered
Chosen Option : --

Q.5 T g okt 37 §:

Ans o 1 i o i
X 2. Twpa 4 3
75 3. g e
X 4 qa®gEE

Question ID : 275228755
Status : Answered
Chosen Option : 2




Q.6 F=fafda d & ol a1 are 1S 8?7
Ans  off 1 & oo g A ot
X 2. 5 it et A ahAT TR
X 3. & gaaa Rl
X 4t wush &

Question ID : 275228769
Status : Answered
Chosen Option : 1

Q.7 fF=faf@ad @ aga a=g:
Ans X' 1 79

X 2.3y

X 3.l

VR

Question ID : 275228758
Status : Answered
Chosen Option : 1

Q.8 3R 1 faeit oreg &:
Ans X' 1 gudg
X 2. g

75 3. s

W 4 f=0

Question ID : 275228763
Status : Not Answered
Chosen Option : --

Q.9 fa=fafEa d @ &9 a1 dga o5 781 82
Ans X" 1 e

25 28R
75 3. g
W 4am

Question ID : 275228759
Status : Answered
Chosen Option : 4




Q.10 w74 oftem dts fam arera &1 g wu gm:
Ans  off 1 mics 3 ofter dire R

X 2. <fiar ditg R w7

75 3. <frem mien A dve R

X 4. dre R mien 3 e

Question ID : 275228770
Status : Answered
Chosen Option : 1

Q.11 F=faf@ad @ 9w e &
Ans «1_513

X 2T

X 3.9

X 4. am

Question ID : 275228756
Status : Answered
Chosen Option : 4

Q.12 31O AT 31 Tehe 7 ek A2 31ef wepe ot aTet aTaRIieT Rt T Fhed &2
Ans (1_;13@

X 2. st A

25 3. v e

X 4. R arerris

Question ID : 275228765
Status : Answered
Chosen Option : 1

Q.13 F=fafEa | 9§ &= ar uatgard e a9 s 8
Ans X' 1 feell, T, Aoy

X 2. =, T, am

25 3., =, 2R

o 4 dftq, geh, Rgm

Question ID : 275228761
Status : Answered
Chosen Option : 4




Q.14 witepif<h &1 gmE=a 3ref ghm:

Ans

27X 1. Ry A A sy ardt
X 2. 3 e Y s A g a1d
27X 3. onfR et & am art
o 4. it & rafer aerad

Question ID : 275228767
Status : Answered
Chosen Option : 1

Q.15 faeis 218 &1 = &1 g 9 &2

Ans

251 T - v

X 2. s -
W 3. 50 - fraae
7% 4. 9T - SR

Question ID : 275228764
Status : Answered
Chosen Option: 3

Q.16 3T T ST -ITH TI-IGE — Alehif<h 1 Tt o12f ghm:

Ans

W 1S g amae

X 2 Peafsrd g mag

/X 3. sitat & Rerger off R = 2
X 4. g oafh @ g Am g

Question ID : 275228768
Status : Answered
Chosen Option : 1

Q.17 g &Ives = @ foram arers &1 g T8

Ans

75 1. &iuch ot erg @ foram)
“2.%%8@@1%’&“
75 3. wg @ foran & A1
75 4. foran dueh 3 g @

Question ID : 275228771
Status : Answered
Chosen Option : 2




Q.18 F=fafEa & 9 frw 2rgr # gard o1 o1 A1 YUY o5 S & =19 UR 3&1 7147 87
Ans x 1. 998

X 257

X 3.9

o 4 T

Question ID : 275228786
Status : Answered
Chosen Option : 1

Q.19 fA=faf@a d @ g @ Geme & YR A ga<eh Aa1fAeR ol 21 a9 & gernr 18 aff = far 3k
Tg HATeH e gaT?

Ans X" 1. 44aigsiter, 1978
W 2. 611 sisiter, 1988
X 3. 61ai G, 1986

/< 4. 4497 gsited, 1976

Question ID : 275228775
Status : Not Answered
Chosen Option : --

Q.20 f=faf@a & @ &= a1 gAwert (UNESCO) fas] eRIgR ®et 3vR Ud2r # 2AE2TE SiehaR ZRT ST
™ UT1?

Ans X" 1 arer HEe
' 2 e e
X 3.emh
X 4. o fewert

Question ID : 275228785
Status : Answered
Chosen Option : 2

Q.21 g=h Y RO I=ag=h {7,04.99. 4. 3R, (UNHCR)} 1 qReaTid shgi A 82
Ans X1 e

W 2

X 3. =td

X 4.9Rg

Question ID : 275228778
Status : Not Answered
Chosen Option : --




Q.22 Which of the following electoral systems is used for the election of the Office of the
President of India?

Ans  off 1. Single transferable vote
X 2. Ranked voting
x 3. Instant run-off voting

X 4. First past the post

Question ID : 275228773
Status : Not Answered
Chosen Option : --

Q.23 fAfaf@a & @ o= a1 wRdia garé orgl 8 e & W St @ senfora gfaan a1 ugen gard srgr
o T 8?

Ans X" 1 g qraTaRY srEgeR SaRlE gaTs orgl
f 2. i sl g g
X 3. o Rt siigia s orgr
25 4. areh gy <z g siaRfga s argr

Question ID : 275228780
Status : Not Answered
Chosen Option : --

Q.24 f=fafEa d @ o= ar 3= e (BRICS) gl # anfae =g 82
Ans X1 sofier

X 2wy

W 3. 5c

25 4

Question ID : 275228787
Status : Answered
Chosen Option: 4

Q.25 T 9ISy o Sifaw a1geng 4 o1 5 sif = v fFaffa & fRar ar?
Ans X1 sreper

X 2. 3TgHE TG TETg
X 3. s
(4.&’5’@?211312?113

Question ID : 275228782
Status : Not Answered
Chosen Option : --




Q.26 FrAfafEa & @ = a1 frered 731 &t are & & forg o o arst @ v =& &2
Ans X' 1. ueuis

2 7S

X 3. @ urs

X 4. dfarurs

Question ID : 275228779
Status : Not Answered
Chosen Option : --

Q.27 IufAwEl 1 ARYA FF AR 3R $2R% i upfa 81 39 Heof &, 'ganw Ta fam ager w=fer
fFrfaf@a d @ for seera @t garfar 82

Ans X 1. argEF @ aigEH fRie gf¥entor
X 2. e & orgET
75 3. 9ga AUy
W 4 oRer 3a @ o dm

Question ID : 275228774
Status : Not Answered
Chosen Option : --

Q.28 fA=faf@a & @ i 91 FYUT 3/ &7
Ans X" 1. 33twor R e & s ST e foam S wehar &1
x 2. IAVUT Thaed TR 3R 3re-=aTiieh UTfereneur & faTth SIeY foha 11 Geha &1

X 3. I3NT foReft araTerd ol fohelt Hehes ot @Al set & forg et srarerd/ =amarfaereoT st
IMERT S F Te&rH g1 8|

( 4. ISNUT T ST AR WA=IdT S Hiferdh STTARRT i AN et & forg foma Sirar g1

Question ID : 275228777
Status : Not Answered
Chosen Option : --

Q.29 ot i e e, T @t et aaran/sites i fan/arrdhiepa forar mam ur?
Ans X' 1.1 e &

W 2 e

75 3. R me™

p R Nk

Question ID : 275228781
Status : Not Answered
Chosen Option : --




Q.30 yael wu /, &gy ard} F37ar o1 AR Aeadh R A o1 v RefafEa § 9 g awaar &

1y ur?
Ans X" 1 gEeA
X 2. 7 (i)
W 3. et
25 4.

Question ID : 275228784
Status : Answered
Chosen Option : 3

Q.31 Ffaf@a 7 @ fre gean 2 afe=a s stigkam @i e fi?
Ans  of 1 cidi o

X 2 g v

X 3. Sifcratare an garenis

X 4. ke gae e

Question ID : 275228776
Status : Not Answered
Chosen Option : --

Q.32 5T 94T # 95w foheds R A1 g4 87

Ans X 1. faer g1 & Hew gRT vee Raffa
X 2. Gud et &t @ st gR1 wewer e
W 3. R @ & et gri s faffa
75 4. asguret gRY FARE

Question ID : 275228783
Status : Not Answered
Chosen Option : --

Q.33 g ¥t 3 gl [ RAT &?
Ans X 1 Aurer

X 2. Riferm

X 3. g iRk iR

f 4 e

Question ID : 275228772
Status : Not Answered
Chosen Option : --




Q.34 g uRarR & aft sg Ge P, Q, R, S, T 3R U Ua A1y g &R @ &1 Q, R w1 g &, g R, Q Y
A gIPsiRRRAafRRasizrgI TTRF wE IS, PR GR 21U, Qwr v &1 A @ i an
ST wfgerad & 87

Ans  of' 1 ps
X 2.su
X 3.0
X 4pPT

Question ID : 275228797
Status : Answered
Chosen Option : 1

Q.35 I fIehcd o1 ag+ FIfSIg fSient iR 2reg O agl Teiw g, Si R 2A% &1 Ugd s 9 Bl
ST BT : HEIAY 2 AT T 2 ?
Ans X' 1 &
X 2w
X 3.8R
W 4 ama

Question ID : 275228788
Status : Answered
Chosen Option : 4

Q.36 I fIehca o1 g+ FIfSig fSuH 2real & i agl ey g, St i< g g eres-gm & ereal Sl
gl

TRt : far
Ans X" 1. et : s
/< 2. 7T R
/X 3. T T
(4.%:6@

Question ID : 275228789
Status : Answered
Chosen Option : 4




Q.37 & 7 AT e @ ud 3R IuS a1 Ry ust H1 IR E:

1.P.Q,R, S, T, U Ueh ufRaR & og s gl

2. P 3Rk Q faarfea siter &1 37ert Uah g ok ues it 21
3. S, T &1 geheltar Ui & 3R U, T <hY u=ht &1

4. S3RRFATQRI

& 7€ gEeT & uR W, T i uish i 82
Ans x 1.Q
W 2R
X 3.8
X ap

Question ID : 275228796
Status : Answered
Chosen Option : 2

Q.38 Tg He fRAfga & 5t = sjiaer 9 d@dfda a8 81
3,5,10, 13,29, 43,172
Ans  of 1 29
25 2.10
X 3.43
75 413

Question ID : 275228801
Status : Answered
Chosen Option: 3

Q.39 ag He Rfgd & it A sjiaen @ d@difda a8 81
2,3,6,7,42, 43,85
Ans  of 1 g5
X 2.43
X 3.42
X 47

Question ID : 275228800
Status : Answered
Chosen Option : 1




Q.40 39 e o1 9o FIfSIg it A=t srrepfar siwet & X & w9 wR smami

Ans

Question ID : 275228791
Status : Answered
Chosen Option: 3

Q.41 34 faheu o1 Ta= RAY St & 71 sjwae A usTaras RAg (?) & U= w smem
4,6,12,18,36,7?,108
Ans x 1.74
75 2.48
W 3.54
X 4.64

Question ID : 275228799
Status : Answered
Chosen Option: 3




Q.42 Tfe Sfa Y S¥SR el SITdT &, 335 hl URIet ehgt STrar 8, AfRe i amd=R whgt ST &, sk
TR <k ST hgl ST @, ot a=a fora foraar 82

Ans X 1 dfeg
X 2.5
X 3. R
W 4 R

Question ID : 275228803
Status : Answered
Chosen Option: 4

Q.43 3R 1 ek g far man &, oiik 396 @ Ul & foIg ues dw smdfea i wf &1 ag ey g
Sit Qen Arfen 2Meg g9 & forg S=meit 1 9E) she e &t &1

A=1L=21=3R=4E=5M=6C=7
Ans X' 1.7,4,51,6,3,2

X 3.7,54,1,623
X 4.6,51,4,7,3,2

Question ID : 275228794
Status : Not Answered
Chosen Option : --

Q.44 39 e o1 9o FfSig it & 71 sjzaen # eqarae Rg (?) & T R sy

A1226, G7T20, M13N14, 2, Y25B2
Ans X" 1. ST9K11

/< 2.522H6

X 3.720819

W 4.s19H8

Question ID : 275228802
Status : Answered
Chosen Option: 4

Q.45 31ffa 7 gk R it iR daha e gQ FeT, ‘A R firan & a3 wiE & o= &1’ R aren et o
aifa @ @ Rear 82

Ans  of 1 arcfom
K2m

25 3. e/ g/ A

p R

Question ID : 275228795
Status : Answered
Chosen Option : 3




Q.46 39 fAeheu o1 9o FIfSIY e ot dwear @ ag d@eu g, st gus) e &1 st S=n | g1
42:20::64:7
Ans X' 132
/X 2.34
W 3.3
/X 4.33

Question ID : 275228790
Status : Answered
Chosen Option: 3

Q.47 uig U= Ry 7 &, S99 @ TR & wen ek fAfYa uer Y guran @, ok g ST @139
T AT, hT TT 3|

ganer, fARren, v, f@=, ==
Ans  of 1 vw

X 2. R
X 3. R=
X 4w

Question ID : 275228792
Status : Answered
Chosen Option: 1

Q.48 Uk FAfa e vrar # af 'mut fit fir' 1 312 'tasty juicy fruit' 8, ‘tie sip dig’ @1 312 ‘beautiful
red rose’ & 37 ‘dig nit fir’ &1 312f ‘rose and fruit’ §, a9t 39 e WST & 'and' & g g Fs
IugiT e mar @2

Ans X" 1 sip
X 2. tie
W 3.nit
/< 4.dig

Question ID : 275228804
Status : Answered
Chosen Option: 3

Q.49 g ez Ry g &1 ag ey g4 O g g @aft eregl & ang # Site? wR & goft Aol eree a9
SITgR |
DRAIN, FACTOR, OUT, SALV, BUOY, STOR

Ans X 1. ANCY

X 2.RAP
25 3.YIK
o 4 AGE

Question ID : 275228793
Status : Answered
Chosen Option: 4




Q50 P-QwIfgfFPQfAuchid; PxQ wrarfgfF'PQfaia; P+Q wrarfgfx'PQ
HFRAAE; P-QIMASEFPQAIEFE; R P=Q wmafgfm'PQfragagraigx+y
- Z @, &t X 3R Z & ft=r erar deier @2

Ans X1 7 XA R
2.2 xFamme
X 3XZaE
X 4. Xz @

Question ID : 275228798
Status : Answered
Chosen Option : 2
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